SHARP T
AQUOS

R R BB N AR
ERERNB A - BAME T EER 2B, -

Y98 E E 1S

HU/HN %5l

https://globaI.sharp/restricted/support/aquos/emanual/asia/pdf/hl/android14/index.html
AR LA AR IRIS RS PDF BFFft - 5B EMAWENELS -

HDMI® deDolby DE€Dolby @&

CERTIFIED
VISION I1Q ATMOS

©Bluetooth dtsx YEAdence

70-HUNBTC-QSGZ1N @1



HRER SHARP BEZE

RILEGHEEE SHARP RERRER - RRALEEMAAEERSFERLY  BEHELEERFERFAMEEEN
ZEEFEER -
EE=3CH BSE -
AR E SR MBSE R BN EGRIZERA - B—ARIERNERR
BPRERNEZR - ARSI RN BRSNS
rEREBRREE -

EELETEMEN

SLESRES

| S BEIRAERBRBERRMAKNERMRRED MESIEXKHEE -

bR AR EROTERR,
AR (N EE) -
BRI AR AL T B ATHHE S -
AMEERBIBARLEE -

RERRR T BT R R ERPRM X
PHREZRIERREMIE)ET -

KGR IREM B ANBERR
SEEE ERDUERBEBRNAKESE "BIR
B =E. -

by BREEERRE - FEET A BIREE -

ERBEREERS
300 #EFKRR100 8 -
MBENEAEER 2B EBXEERAZBIBLNE -

WARERE - DI EBRRISEEMSE -
< BE - BEEMEBAURRBREE N T RNEIRA - ERRWEENHREEER -

ADEAREERE RABABBERRN S RMEBHE RN RRRAEE BRI EM N DS RRER -
« KR - BAEK 2 B EAAK, SIMESAYRR A, E R SR E S RE NS A ZEMRN FEhER -
AEDERHZ ENETCRSTOEMEKNERE - FRKERIIAK £ RoaES BN KBS -
« RERAHNERMEENHEE 2E =MANKE L - MEENEEEEEAKEE BNRENASBEURERERE
IR - FEERAREDMEBNARERLE HERHE B =R RIS T - BARZENE LR BEBLBREARED
BtE - MERYUERRRIEHAEBNZESREM -
RARMERESE LIRER W R/NVEIRRE - 2F BNBE MAATSS HSERNAKUME HieE -
- BE - AR EREEILEE M O R T ARAAER - B7EEELE AR E,BREANAREERIBHAN/ M
RAKKERSD - AZRABRERENE D B HEMBLY R L ARABLEY RS REMERT - AR ZREFFEAR
BRANZE FIUARERAEERNGEE BREHFAZE RFFRHUSENBERNERARSESHNIEREE
AP Z R iR E MBI RSN - FIt AR ERNEEN BRI RN AR I WIS - BE—REBBRSWE B NOAE
WA BB ENS -
R - FBZ)BA BOA AR WIRE A, IS B S E Ht U E 2L RENER (BERAKER) -
+ BEILEBEXK B2 T EEENE S G EN RS LSRN -
B THLIEXK BBV B BB RXABFRENB RS EMED T -
BATEAEZ FNEEVNRRRAM Z £ - BRHMIEERAREAMERSE - HAZIEMIENTEMEY -
RBERRABSEE MRS BRERER 99.99% ML -
0.01% LA FHIERK B R NEPLR R BENGRAZHE -
EDRBTRRZEERZBIKBINE - AITZER TR -
SKEEEBRG EURAKEABRRAE IBEZ S - BEHIE -
-RPEE RS LRERRERLANED 1Im MWAIE -

-2



B 1% B3 14

1.3E£%8 (GB433) 2. R ZEF R
75/65/55HU 85HU
98/85/75/65/55HN
BB ‘\
#eE  BEFRT
A6 AMEER \\
o R 85HU : (M6x20mm) x4
98/85/75HN : (M6x20mm) x4 38
(M5x20mm) x8%8 65/55HN  : (M5x18mm) x4
T RrAROGOY 44444444 4444
3. EBIRE TG E FE 5. BEE RS S Q
x4

*Plug shape varies by country

=

(108 98HN / 85HU)

nitial Seqy, Guide

@)

ZINBHE
BN B EES
BEEREMT -
AR SN -

[(EREREIREE]
o EFAAT - FE5EhRE USB Type-C BB FRBERE - TILIER USB Type-C &
- FHERERE  BARMERRSEBET EE  WAXFRASIER -

s BEXGREENREEART - EEBBRRBEALES -

EERE -

EREBRTREHNESSER

- ERRERRER - U 2BRREMEBENRERGE L -
c BORKBBERSLER - SUESERERY
« BRARZERENRES MR EREU MBI B NS

- BEMNBER
B RRIREEAMEMASREBST - FAIHNREZERRESE -
> GRBRRREEEZNET  XRAREHE -
> ERUZEXEETRNRE -
> BRBIARAZBRENZIEREZESR -
> HEREAMPRREMBIU B RRNEIEGR 2B -
> RERERRRZERNEEMMUEE - FEAKEENE - i sids -
> ZBEMBTRERAREZUE -
> ZNERBEKSRE (F HEIER ) 2 EMARRERBERR _ENFEE
> i ﬁi‘ra%%ﬂ&ﬂﬁi%ﬂﬁi‘rﬁ&ﬁ} PRE 7 BN RS E ARz E -
> ZMERSIREZRZYG - W BENETENERE RS LNZER TR ZREL -
BB ZBRERRE Eﬁz%éﬂﬂab% LR ETNER -

-3

ERIREENEEMEARS ABEFRE
51289 AC INPUT ( 7%

BEMSEL -

RA—E&FEE-
BB ) InF EEHAHT -

CIFEMBENFEE MRS - fl1




PEEE {i1] 98HN/85HU/85HN

BRAUMN R LU LR

RS

-4



FEEE{iI| 75/65/55HU

AR BRE LI

RS

o AL
LT

75/65HU




S EES
E[EElI| 75/65/55HN

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

@



AiaZ =

BF-REMABRRER

(1) BRREIRARIEARITREIRIEEE -
« BRETSHERORABRBEENMUE - DEEREAMIER
- REREZRMERMZARBRAR -

@ Q) BrswR

(B) T HARE -
c RREBTRSERLNETRERE -

I F Bl (B /R =3 5 H) | R (B8R 23 [ EER)

BRRBUTSRIZE—RF - RENERSEE

RPUBEME  JEAFRETRELESH -

usB

Z KR

HDMI 4
120Hz (144Hz)

DMI 3 J

120Hz (144Hz)

HDMI 2
(eARC/ARC)
AVIN

HDMI 1

B EH
it

=
o=l =

Hi#

[ ®
1]

° ]
- M(©)

ERRFRCRINE - AREE IR
FER LHBFARE -

2
RFERERE

AV IN EEF3ERAR -
TE RCA A EMS -
BB #IEZH(QCNWGA252WIPZ)

Side terminal .
Video
croE— ot
L. Red © AudioR
>-AudioR (AudioR)
3-Audio L
4-Video

Game console
DVD player, etc

RIBFTEEES -
BUK -
HIEESHETFM -

BR LNRETERE




HEETFM

B £%

BERRFEFM
MO LUEREBEAFH - TRENNBMBHATN _HREEEERN
AEMLEEENE -

SRSt HEAR
T — RN RSN - SERBEE A - BERRERRE -
e TROEALR
N . REREHT 7ERE L R -
o * ACEIR#R 25 PSS ?
o . USB Type-C BIRREHERE K ? WREBBIE -
B ‘ el :
EIEERLAE . BEBRECHE ? IS8 USE Type-C BEERE -

- RETR  BEAEAEE RS R ?

- RERE - EEEEEE SR

%EEMRA

* & SHARP REREGRES S RANASTIRY - SRAREERNASAREBRE=7 - HEIESmNE
=5 - B - BB = A AR O T PR BRI S AV S MRS 0 R 0 A S 2 R - B0
REMEZERIEAEY - SHARP BR A RIS 7RRAR - BFBANELRBHEBEIEN - 20
RO E =5 W B A AR BRI ; CREBBETHTLREEY - 52 - A% - B - Bx -
BT - W - L - B - 18 - AURGTAERNE - WS SR L B AR RO TS SRS -

o WRESHABEHEMOBEREREE | SHARP SRR - 1R EE = SR AR IRE -
BB RBERORR - B RS ERON SRR AT - 1R SR AR EAS RIS RRTMAL
REGTASIURES - OEBARNEE - B@RERSE AR FRRERE - SR BB EEL
Pl - RAFEAANAKEEAESES - SHARP - HET - SHAR - 15 - REA - KOBANFATHRE
SUEFTSE= R -

© FETEAAEEERNESANELMBEEN TTMK, U TRk RIAE - SHARP BRTATEAHE
(B RIEY - FREIRAER - DEBRRRE RS ONE LR 2R - FEE - BERT
Fiik - WYL - I - RYE - SEN - TR0 - ATAHE - I - SR SRR B AU EROE
FIER - ARRNS SRS S EIOBRIIL -

*  SHARP WFBZHASAMBHEBNAEA - MEAHREHASLMBREEOTALRRURRLES
R AR AN SR S AR -

L]

EEAERT - HRCSREAE=70ETEE - B Bk - B2 I - BRRUNEMIBEX - FAREEER
EEREGH - B B BRFE REFEENEMSE - MERW® SHARP M/ EFASRECHEMEE
IEHRIBERTTAE: - SHARP M/ EFATHARE -




Bt £

[k

Google TV is the name of this device's software experience and a trademark of Google LLC. Google,
YouTube, Google Cast and YouTube Music are trademarks of Google LLC.

Google Assistant is not available in certain languages and countries. Availability of services varies by country
and language.

Dolby, Dolby Vision, Dolby Atmos, and the double-D symbol are registered trademarks of Dolby Laboratories
Licensing Corporation. Dolby Vision IQ is a trademark of Dolby Laboratories Licensing Corporation.
Manufactured under license from Dolby Laboratories. Confidential unpublished works. Copyright © 2012-2024
Dolby Laboratories. All rights reserved.

The terms HDMI, HDMI High-Definition Multimedia Interface, HDMI Trade dress and the HDMI Logos are
trademarks or registered trademarks of HDMI Licensing Administrator, Inc.

| The Wi-Fi CERTIFIFD™ Logo is a certification mark of WiFi Alliance®

The Bluetooth® word mark and logos are registered trademarks owned by Bluetooth SIG, Inc. and any use of
such marks by SHARP Corporation is under license. Other trademarks and trade names are those of their
respective owners.

| Covered by one or more claims of the HEVC patents listed at patentlist.accessadvance.com.

ANY USE OF THIS PRODUCT IN ANY MANNER OTHER THAN PERSONAL USE THAT COMPLIES WITH
THE MPEG-2 STANDARD FOR ENCODING VIDEO INFORMATION FOR PACKAGED MEDIA IS
EXPRESSLY PROHIBITED WITHOUT A LICENSE UNDER APPLICABLE PATENTS IN THE MPEG-2
PATENT PORTFOLIO, WHICH LICENSE IS AVAILABLE FROM MPEG LA, LLC, 6312 S. Fiddlers Green
Circle, Suite 400 E, Greenwood Village, Colorado 80111 U.S.A.

THIS PRODUCT IS LICENSED UNDER THE VC-1 PATENT PORTFOLIO LICENSE FOR THE PERSONAL
AND NON-COMMERCIAL USE OF A CONSUMER TO (i) ENCODE VIDEO IN COMPLIANCE WITH THE VC-1
STANDARD (“VC-1 VIDEO”) AND/OR (ii) DECODE VC-1 VIDEO THAT WAS ENCODED BY A CONSUMER
ENGAGED IN A PERSONAL AND NON-COMMERCIAL ACTIVITY AND/OR WAS OBTAINED FROM A VIDEO
PROVIDER LICENSED TO PROVIDE VC-1 VIDEO. NO LICENSE IS GRANTED OR SHALL BE IMPLIED FOR
ANY OTHER USE. ADDITIONAL INFORMATION MAY BE OBTAINED FROM MPEG LA, L.L.C.

SEE HTTP./WWW.MPEGLA.COM

THIS PRODUCT IS LICENSED UNDER THE AVC PATENT PORTFOLIO LICENSE FOR THE PERSONAL USE
OF A CONSUMER OR OTHER USES IN WHICH IT DOES NOT RECEIVE REMUNERATION TO (i) ENCODE
VIDEO IN COMPLIANCE WITH THE AVC STANDARD (“AVC VIDEO”) AND/OR (ii) DECODE AVC VIDEO
THAT WAS ENCODED BY A CONSUMER ENGAGED IN A PERSONAL ACTIVITY AND/OR WAS OBTAINED
FROM A VIDEO PROVIDER LICENSED TO PROVIDE AVC VIDEO. NO LICENSE IS GRANTED OR SHALL
BE IMPLIED FOR ANY OTHER USE. ADDITIONAL INFORMATION MAY BE OBTAINED FROM MPEG LA,
L.L.C. SEE HTTP://WWW.MPEGLA.COM

THIS PRODUCT IS LICENSED UNDER THE MPEG-4 VISUAL PATENT PORTFOLIO LICENSE FOR THE
PERSONAL AND NON-COMMERCIAL USE OF A CONSUMER FOR (i) ENCODING VIDEO IN COMPLIANCE
WITH THE MPEG-4 VISUAL STANDARD (“MPEG-4 VIDEO”) AND/OR (ii) DECODING MPEG-4 VIDEO THAT
WAS ENCODED BY A CONSUMER ENGAGED IN A PERSONAL AND NON-COMMERCIAL ACTIVITY
AND/OR WAS OBTAINED FROM A VIDEO PROVIDER LICENSED BY MPEG LA TO PROVIDE MPEG-4
VIDEO. NO LICENSE IS GRANTED OR SHALL BE IMPLIED FOR ANY OTHER USE. ADDITIONAL
INFORMATION INCLUDING THAT RELATING TO PROMOTIONAL, INTERNAL AND COMMERCIAL USES
AND LICENSING MAY BE OBTAINED FROM MPEG LA, L.L.C. SEE HTTP:/WWW.MPEGLA.COM

FOR DTS PATENTS, SEE HTTP://XPERL.COM/DTS-PATENTS/. MANUFACTURED UNDER LICENSE FROM
DTS, INC. AND ITS AFFILIATES. DTS, DTS:X, THE DTS:X LOGO, VIRTUAL:X, AND THE DTS VIRTUAL:X
LOGO ARE REGISTERED TRADEMARKS OR TRADEMARKS OF DTS, INC. AND ITS AFFILIATES IN THE
UNITED STATES AND/OR OTHER COUNTRIES. © DTS, INC. AND ITS AFFILIATES. ALL RIGHTS
RESERVED.



http://www.mpegla.com/
http://www.mpegla.com/
http://www.mpegla.com/

Bt £

R fF £ BT SR

o

m]

CRAEERRERERRE
- IBREERR | R

[BRFIAE -

ERGER  HPERAREEREMNEE

k-

_n.ﬂﬁ%
MRASR 7B
1 #EEAXEZEAEDP

HEE/OK -
2

BIRER T IILERARERERS

BEE TR

BRREERIRERRRE

p Mg —

REL > "HRFE > TERL > TERL > TRERBRE .

BERTE -

| FBRC MEMUZERE

CREET

(@-10




RS

A 85HU %51 75HU %351 65HU %31 55HU %35
e 98HN %31 85HN %351 75HN %31 65HN %51 55HN %51
TREER (N AR 248 cm 215cm 189 cm 164 cm 139 cm
BT 8,294,400 2% (3840 x 2160)
SERITE 3840*2160@120Hz(144Hz), 1920*1080@120Hz(144Hz), 640*480@60HZ
fERIPA=EN PAL/SECAM/NTSC 3.58/NTSC 4.43/PAL 60
N HU - (L15W+15W) x2 | 10W x2 + 20W | 10W x2 + 20W | 10W x2 +20W
B HN [ (15W+15W) x2 15W x2 15W x2 15W x2 15W x2
HDMI 1 HDMI 4K, 60Hz, ALLM/VRR
HDMI 2 HDMI 4K, 60Hz, ALLM/VRR, eARC/ARC
HDMI 3,4 HDMI 4K, 120Hz(144Hz), ALLM/VRR
Bz AVIN(EZF@A) @3.5 mm jack (EFHEMA - RAHA)
USB1,2 USB (DC5V 1.0A#i )
Z K #3#& (10/100 BASE-T) s E R
HUBSHEL St# S/PDIF g = #éa H
Hi% ®3.5mm 1758
Wi-Fi Bl E (Wi-Fi B2 2) WiFi 6E (WPA / WPA2)
B V21/3.0/42/52
BREK AC 110V, 60Hz
EAEEIE (W] / (54 (W] HU - 370/(0.5) 340/(0.5) 315/(0.5) 195/(0.5)
HN 445/(0.5) 365/(0.5) 305/(0.5) 215/(0.5) 205/(0.5)
FELBES/ (BLEES) k) HU - 45.1/(46.1) 30.2/(35.7) 21.3/(26.8) 16.2/(21.7)
HN 58.5/(59.5) 32.6/(33.6) 24.2/(24.9) 16.4/(17.1) 11.7/(12.2)
BIERE 0°CEl+40°C
« ERTETSUEBERR—ERY - SHARP (REBUUEE R & EREFRBHERN - BASITEM -
o DULEMEERBHEERERRZBENREE - @ EUaﬁfﬁE’MﬁEﬁMET BERRAEER -
BMEMS EIFRERSIE
o RERBRRBTRREEERIN - AN ERSHENEBASET - BEAEETERLZE - SHARP HERRZEAEHZEEMNE
WIS ENFEEMEE -
- BRIRIERT - B ¥ AR ETEARMEM AR R -

BEERIRRE T RERRES -

BB EREENRAR RS MEH R EEENETE -

@D-11




Rt | 98HN

- UTFBERREEARRTASELS - BMREMNBERRINEREE -

Nach
A F1 [ 1F2 H L
S
B
[@u ° ° K1
K2
0 0 |
| (@i
D T 3 T 1 T
| [} | —c—
B mm
" B
kil A B C D E F1 F2 F3 G H | J -
L/K1/K2 | RIE&FE
4T-C98HN70*** |2181.7|1246.7(1775.6| 63.9 | 54.1 | 16.7 | 85.6 | 109.8 | 408.8 | 690.8 | 690.8 | 159.5 |800/200/200| M8 x 16
*0~9, A~Z
BMERE ERFZE /)l

BLEEHTR . AREEA 4 ERAT - BEEIRA 6 B4 -

@ « 4

m@

h @

@-12




Rt | 85HU

- UTFBERREEARRTASELS - BMREMNBERRINEREE -

F3
(IF2

A Pl H L

D1 = T é%‘li r

1 c X —e

RL—DP—X%

Bl mm
B2}

Lx K HIRURE

uid) A B C D E F1 | F2 | F3 G H | J

4T-C85HU85*** [1893.5/1086.2|1475.6| 63.9 | 54 | 149 | 36.7 | 109.1|408.8 | 696.8 | 696.8 | 359.3| 500x200 | M8x16

*0~9, A~Z

#EiE ERE/D
BREEHIR  CHRBEM 4 EARHAE -

L@ « 4

a-} L
~mm::]mmm0

@13



R~tE& | 75/65/55HU

- UTFBERREEARRTASELS - BMREMNBERRINEREE -

A e H f L £ |
00O
o o T
K
- i
L O I (U l.J
D El ] —
A—— R —
I mm
— B
sl A B C D E F G H | J Ixk —

4T-C75HU85*** 1671.7|954.1 | 450 | 65.2 | 58.2 | 71.1 | 330 |635.9/635.9|119.2| 400x300 | M6x15

4T-C65HU85*** (1447.8| 828 | 450 | 65.1 | 58.1 | 68.8 | 330 |523.9|523.9|222.1| 400x300 | M6x15

4T-C55HU85*** 1227.6|704.1| 450 | 65.1 | 584 | 68.8 | 330 |413.8|413.8|119.9| 400x300 | M6x15

*0~9, A~Z

R <t | 85/75/65/55HN

- UTFERSBBEARAREUFELS  eMRZ2ARBERRINERGEE -
| F | |

I A 1 f H i- L f |
[ [

| =

e ofe—x —f

| i [ Fl
PR EY T T T
‘ c ‘ fF——c—
B :mm
RE A B C D E F G H I J £
= Lx K RIBFE

4T-C85HN70*** |1889.6 (1077.6/1507.9| 64.6 | 57.4 | 741 | 408.8|644.8 | 644.8|290.4 | 600x400 | M8x 16

4T-C75HN70*** 1667.3|952.2 (1347.1] 64.5 | 56.8 | 71.3 | 367 |633.7|633.7|233.2| 400x300 | M6x15

4T-C65HN70*** |1445.2| 827 |11254| 64.9 | 57.6 | 71.1 | 341.5|522.6|522.6|143.4| 400x300 | M6x 12

4T-C55HN70*** 1225.8|706.1 9414 | 64.2 | 57.1 | 704 | 341.5|4629|4629| 90.9 | 300x300 | M6x12

*0~9, A~Z

@D-14



PRAYE & E(E2MF5R

RERE . REMBRS
A5 (E3) : HUHN %31

IRAME R ECEFE
£ & % NfESE ZIRMER e

BT (Pb) (Hg) (Cd) (Cr+) (PBB) (PBDE)
BT o o) O o) 0 o
&R O o) O o) o) O
R B} o o o o) o
B 0 O O O o) o)
Hith 4554 ) o o) o o
Bt (B : E2%%) o o o o o
FEL "BH0Iwt%” K C#BH0.01wt%” GERAVEZESESEBEEN R SE%EE -
BE2 'O GEZERBVEZENLZERBHANLZEE%E -
BE3. - GIEZIERAYERMHRIER -

RS AR TS
RBENEE A NS EREERFBEEESERRETRE

HEERERHE4:0809-090-510

RFEsEE:EH—Z=28H 09:00~21:

00

B3k (EsU)

HU %31

4T-C85HU8B500X
4T-C75HU8B500X
4T-C65HU8B500X
4T-C55HU8B500X

SHARP

EOD:
EOBEMUE bR I EDSLEE 1658718
EBRFEE4: 0809-090-510

HN %3l

4T-C98HN7000X 4T-C65HN70CST
4T-C85HN7000X 4T-C55HN70CST
4T-C75HN7000X

4T-C65HN7000X

4T-C55HN7000X

aEEERMNBRAT

@-15




SHARP

SHARP CORPORATION

o o B EN Rl



	投影片 2
	投影片 3
	投影片 4
	投影片 5
	投影片 6
	投影片 7
	投影片 8
	投影片 9
	投影片 10
	投影片 11
	投影片 12
	投影片 13
	投影片 14
	投影片 15
	投影片 16
	投影片 17

